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A single discount equivalent to three simple discounts of 10%, 12% and 15% is:

10%, 12% 3T 15% hY A ATLROT AT THiHE Tt o SR Teh GHICT PE ToharT
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1. 32.68%

2. 34.17%

3. 35.36%

4. 37%
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A, B and C can do a piece of work in 10, 15 and 30 days, respectively. If B and C
both assist A on every third day, then in how many days can the work be

completed?

A, B 31 C Uk T &l SHHIT: 10, 15 31X 30 &9 & ot whd ¥1 Ife B 311 C ST
T HTER o A <hT FETIaT i &, A hrdl bl foher A1 ® qur feRa <1 wehat 22
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Let x be the least number divisible by 8, 12, 30, 36 and 45 and x is also a perfec

square. What is the value of x?

T x TaH BIEt 6T § A 8, 12, 30, 36 37X 45 ¥ fIw=a § 3R x #f Ueh qot o 2
X ThT HT ST 82

LCm= ©,12, 20,736, 1S
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A person crosses a 900-metre long street in 6 minutes. The speed of the person in

km/h is:
Ueh A<k 900 HIeT iall TSk i 6 THAE H IR T 2| ST (<h hl T fRHI/EeET &

R 22 ¢4%
_ . v
§?eeo\— O\%/
1. 10 km/h

% 2. 15 km/h
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) 3. 12 km/h

4. 9 km/h
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A train can travel 40% faster than a car. Both the train and the car start from point A
at the same time and reach point B, which is 70 km away from point A, at the same

time. On the way, however, the train lost about 15 minutes while stopping at stations.

The speed of the car in km/h is:

Teh ¢ ST chl GO H 40% T ITAT T Fehel ! 8 o AR SR AT Th et aa Wiig A &
AT I At & 3R foig B ut ugerdt &, =i feig A & 70 foret 32 81 wrarior oed o weomt W
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If A and B can do a piece of work in 20 days, and A alone can do the same

work in 30 days, then in how many days can B alone complete the same

work?

Ife A 3R B Ueh 1 ot 20 o1 # S @ahd B, 371X A 3TReTT SET ST <Rl 30
&A1 W X TohaT B, AT B STSRAAT 36T h1dl i foha AT W ORT ot TehelT 22
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A field is in the form of a circle. The cost of fencing around it at Rs.11 per
metre is Rs.2,420. What is the area (in m?) of the field?

T 8 Ueh 1 oh ©U H gl 39k IR 3TN 11 TG T HieX /Y A 918 o7
<Y TRT 2,420 TUA | AT T SAHT (WP H) T 22
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A girl spend 76% of her income. If her income increase by 18% and her
expenditure increases by 25%, then what is the percentage increase or

decrease in her savings (correct to one decimal place)?

Ueh TTgeh! STUHT ST <R 76 Tt 5o ohtelt 21 e Saeht o ¥ 18% st afg
BT § ST 36k oqT W 25% ohl Tl BT 8, AT IThT Tad | {oha TTavrd &l dfeg

%@N’w@) \4%, decrease
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The incomes of A and B are in the ratio 3 : 4, and their expenditure are in the

ratio 9 : 5. If the income of A is equal to three times the expenditure of B, then

what is the ratio of the savings of A and B?
A 3T B <Y 37T ohT STTUTA 3 : 4 T, 3T IThT 9 9 ¢ 5 % SIJUTa | 1 afg A i
AT B o 5 o oI AT oh SRTaR &, AT A 3 B k1 Sl ShT JTUTA 4T 82

1. 3:5




SSC MTS 2022-23

The average weight of 6 persons increases by 2.5 kg when a new person comes
in place of one of them weighing 55 kg. What might be the weight (in kg) of

the new person?

6 SATHAT T 3T AR 2.5 TRIT I ATAT & T ITH H Ueh ST *h [STHehT IR 55

ToRTIT B, o TUT U Ueh 9T Sa Tk ATAT 2| U A1~k ohT W (TR o) ST &1 Tehal
il <L ﬁ%&a& = OFHS =S s

3. 60

4. 75.5
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The average of seven consecutive even natural numbers is 36. The value of the
first number is:
| SHATTA TH TTehd SEATST T ST 36 7| Ul HEAT T W FIT 82

36
GV\/ \'E g 1. 26
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1 / X 2. 30
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N r 3. 32

4. 28
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An aeroplane covers a certain distance at a speed of 320 km/h in 5.5 hours, To

cover the same distance in 4 hours, it must travel at a speed of.

Teh 213 Se T Ueh T2 gt 320 forefiyeter oY wifa & 5.5 wie # o wedt 2, 3t
it oY 4 €2 W T KA o ToT¢ W Tehat TTid & AT T =TT

1. 460 km/h

2. 440 km/h

3. 420 km/h

4. 450 km/h
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A person has left a sum of Rs. 1,45,600 to be divided among his two sons aged 15 years
and 13 years now. Both of them invested their shares on simple interest at 10% per
annum. If both of them gets equal amounts when they attains 18 years of age. then the

original share received by younger son is:

Tk ek gIRT 1,45,600 U ShY AT 310 15 TW 31 13 T4 o6 31 g1 § forafia o o forg
B & AT 1 ST AT BT 10% Ui oy ohY 20 & Sraror sarst ue T o 21 afe
ST ST 18 9 <hT ST UTH h{A UL WHTA TTIT ITH Elelt g1 A1 SIS I T UTH T &1 ot

22

1 /8700
iy E'ED \\ 1. Rs. 64,500
Qe 2. Rs. 67,600
3. Rs. 66,400

4. Rs. 67,500
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